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Answers with Explanation

WBCS (Prelims) Exam. Practice Set

1. (d) Habits are personal. Customs are social. To
persuade someone means to move him or her
to action. Contagious is used for a disease
spreading by contact.

2. (d) Eager means looking forward or keen
3. (a) Before the name of a road, 'the' is inserted.

But before the name of a street or avenue no
article is inserted.

4. (d)
5. (a)

6. (b) Sedative – vþzöì_‹˜y ²ÌŸ›˜„þyîû# è¡ì•
7. (d) ¢!àþ„þ îy˜y˜ £öìî Jewellery

8. (c) ¢!àþ„þ îy˜y˜ £öìî Balloon

9. (d) ¢!àþ„þ îy˜y˜ £öìî Bureaucracy
10. (a) Pioneer – One who leads other in any field,

Polyglot – One who knows many languages,
Stoic – A person who is indifferent to pleasure
and pain.

11. (d) Stroll – xœ¢¦þyöìî ‡%öìîû öîvþüyöì̃ y– Gallop – o&“þ x@ùÌ¢îû
£çëûy– Jog – xyœöì“þy „þöìîû •yEþy ö”çëûy– Ÿîû#îû‰þ‰Åþyîû ‹˜Ä
•#îû†!“þöì“þ xöì̃ „þÇþ’ •öìîû ö”ïvþüyöì̃ y

12. (b)
13. (c)
14. (b) Identical with – x˜%îû*þ™– x!î„þœ
15. (c) Envious of – {¡ìÅy!§º“þ
16. (d) Contemporary with – ¢›¢y›!ëû„þ
17. (b) Decent – ¦þo îy öŸy¦þ˜– Descent – xîöìîûy£’
18. (b)
19. (c) Eminent – !î…Äy“þ (Famous); Deference – ×kþy

(Respect), Decease – ›,“þ (Dead)
20. (d)
21. (b) agree on a matter or terms, agree with a

person, agree to a proposal
22. (a) Austere – „þöìàþyîû¦þyöìî ˜#!“þ!˜Ûþ– Recluse – !˜‹Å̃ îy¢#–

Iconoclast – þ™%ö ìî ûyö ì˜y öœy„þy‰þyîû îy !îÙ»y¢öì„þ
xye«›’„þyîû# îÄ!_«

23. (c) 50th anniversary – semicentennial, 100th
anniversary – centennial, Occuring once in six
years – sexennial

24. (b) A small drop of liquid or melted solid – globule,
So small that it cannot be measured –
infinitesimal, A small net hand bag – Reticule

25. (b)
26. (c)

27. (c)
28. (c)
29. (c)
30. (a)

31. (c)
3 3 3

2 2 2

a b c 3abc

a b c ab bc ca

  
    

2 2 2

2 2 2

(a b c)(a b c ab bc ca)

a b c ab bc ca

      


    
= a + b + c
~öìÇþöìe– a = 2.5, b = 1.7, c = 5.8
 !˜öì’Åëû ¢îûœšþœ = 2.5 + 1.7 + 5.8 = 10

32. (b)
33. (b) !“þ!˜ ›yoyöì‹ xy£z̃  x›y˜Ä xyöì̈ yœöì̃  ë%_« !Šéöìœ˜Ð
34. (c) !îÊöìÝþöì̃ îû ¢%!²Ì›öì„þyÝÅþ þ™yœÅyöì›öìrÝþ ²Ì’#“þ ö„þyöì̃ y xy£zöì̃ îû

¢y‚!î•y!˜„þ ÷î•“þy !î‰þyîû „þîûöì“þ þ™yöìîû ˜yÐ
35. (b)
36. (b) I  9, H  8, G  7, 6  F, 5  E, 4 

D
37. (b)
38. (a) ›)œÄë%_« „þîû ²Ìí› ‰þyœ% £ëû šÊþyöìªÐ
39. (d)
40. (d)
41. (d)
42. (c)

43. (d) R

P

–2
O A S T

Q Y U R

+2 –2 +2 –2

S

Q

–2
L O P Y

N M R W

+2 –2 +2 –2

44. (b)
45. (b) 712 ¢yöìœ xyîûîîûy xye«›’ „þöìîûÐ
46. (a)

47. (c) ¢‚…Äy ”%!Ýþ x ç y £öìœ– x + y = 54   ....(i)

~î‚ x – y =
1

9
(x + y) =

1

9
 × 54

îy– x – y = 6  ....(ii)

(i) + (ii)  2x = 60 îy– x = 30
 y = 54 – 30 = 24
 30 ç 24 ~îû †¢y= 6

48. (c)

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 9– £z¢%Ä éôé 12  ~!²Ìœ– 20222

49. (c) ö†yëûyöì“þ þ™îûî“Åþ#„þyöìœ öþ™y“%Åþ!†‹ îûy‹•y˜# ßþiy˜yhsþ!îû“þ £ëûÐ
50. (d)

51. (c)

52. (b) ~£z ¢!õþ £ëû 1782 ¢yöìœÐ
53. (b) þ™y„þßþiœ#îû †Äy!ßþTÉ„þ @ùÌ!sþi îy þ™y„þ@ùÌ!sþi öíöì„þ ö²Ìy!Ýþ˜

þ™!îûþ™y„þ„þyîû# öþ™þ™!¢˜ ~î‚ šþÄyÝþ þ™!îûþ™y„þ„þyîû# œy£zöìþ™‹
vþzêþ™§¬ £ëûÐ þ™y„þßþiœ#îû x!:˜!Ýþ„þ @ùÌ!sþi öíöì„þ £y£zöìvÈþyöì„Ïþy!îû„þ
xÄy!¢vþ (HCl) vþzêþ™§¬ £ëûÐ

54. (b) (a) 6 × 20 ÷ 12 – 7 + 1

 6 + 20 – 12 ÷ 7 × 1 =
2

24
7
 62

(b) 6 ÷ 20 × 12 + 7 – 1
 6 – 20 + 12 × 7 ÷ 1 = 70

(c) 6 + 20 × 12 ÷ 7 – 1
 6 × 20 + 12 – 7 ÷ 1 = 125  57

(d) 6 – 20 + 12 × 7 ÷ 1

 6 ÷ 20 × 12 + 7 – 1 = 3
9

5
 48

55. (d)

56. (b)

57. (d) £Éöì”îû ‹öìœîû vþzþ™!îû“þœ ë…˜ îîûöìšþ þ™!îû’“þ £öì“þ Öîû&
„þöìîû– “þ…˜ !àþ„þ ˜#öì‰þ ‹öìœîû vþz¡Œ“þy 0°C íyöì„þÐ xyîûç
˜#öì‰þîû !”öì„þ ‹öìœîû vþz¡Œ“þy e«›Ÿ öîöìvþü 4°C £ëûÐ ~£z
„þyîûöì’ ‹öìœîû ›öì•Ä ‹œ‰þîû ²Ìy’#îûy ²Ì‰þ[þ Ÿ#öì“þîû !”öì̃ ç
öî¤öì‰þ íy„þöì“þ þ™yöìîûÐ

58. (c)

59. (b)

60. (c) 1825 ¢yöìœ ~!Ýþ ²Ì!“þ!Ûþ“þ £ëû ÷î”y!hsþ„þ ~öì„þÙ»îûîy” !ŸÇþy
ö”çëûyîû ‹˜ÄÐ

61. (d) xÄyœ‹y£z›yîû öîûyöì† ›!hßþÜñ ö„þyöìŸîû ›,“%þÄ ‡öìÝþÐ
62. (c)

63. (a) ~!Ýþ 1835 ¢yöìœ 7 ›y‰Åþ !“þ!˜ ö‡y¡ì’y „þöìîû̃ Ð
64. (c) ›%„%þœ– !î‹ëû ç !“þ!›öìîûîû œ¦þÄy‚öìŸîû x˜%þ™y“þ

= 7000 : 10000 : 8000 = 7 : 10 : 8

 !î‹öìëûîû ›)œ•öì̃ îû þ™!îû›y’

10
75000 30000

7 10 8
  

 
 Ýþy„þy

65. (c) öÝþÆ̃ !Ýþîû †!“þöìî† = 54 !„þ!›/‡

= 54 ×
5

18
 = 15 !›/ö¢

öœy„þ!Ýþîû †!“þöìî† = 8 !›/ö¢
öÝþÆ̃ !Ýþîû xyöìþ™!Çþ„þ †!“þöìî† = 15 + 8 = 23 !›/ö¢
 12 ö¢öì„þöìuþ öÝþÆ̃ !Ýþ x!“þe«› „þöìîû = 23 × 12 = 276
!›ÝþyîûÐ

66. (a) î,̈ yî˜ ”y¢ ­ ÷‰þ“þ˜Ä ¦þy†î“þ– ‹ëûy˜¨ ­ ÷‰þ“þ˜Ä›Dœ–
îû*þ™ ö†yßþºy›# ­ !î”?þ›y•î– œ!œ“þ›y•î

67. (b) H
2
 141790 KJ/kg

Gasoline  47300 KJ/kg
Methane  55530 KJ/kg

68. (a)

69. (d)

70. (a)

71. (d)

72. (b) 1920 ¢yöìœ ~!Ýþ ²Ì!“þ!Ûþ“þ £ëûÐ
73. (a) 8, 12, 30 ~îû œ¢y= = 120

9999 – 39 = 9960 ¢‚…Äy!Ýþ 8, 12, 30 myîûy !î¦þy‹Ä
 !˜öì’Åëû ¢‚…Äy!Ýþ 9960 + 7 = 9967

74. (c)

75. (a) ›!’þ™%öìîû ¢îöì‰þöìëû öî!Ÿîyîû S10 îyîûV îûyÜTÉþ™!“þ Ÿy¢˜ ‹y!îû
„þîûy £öìëûöìŠéÐ

76. (a) ‹›y ­ ¢îû„þy!îû !£öì¢öìî öë þ™!îû›y’ îûy‹ßþº xy”yëû £“þÐ
£y!¢œ ­ îyhßþöìî öë þ™!îû›y’ îûy‹ßþº xy”yëû £“þÐ

77. (c)

78. (a) 2 ›y¢ 13 !”˜ = 73 !”˜ =
73

365
 îŠéîû =

1

5
îŠéîû

 ¢%” (I)
Prt 4000 15 1

120
100 100 5

 
  


Ýþy„þy

79. (b)

80. (d)

81. (b)

82. (b) •!îû– x ‹˜ öœy„þ 55 !”öì̃ 1 x‚Ÿ „þy‹ „þöìîûÐ

1 ‹˜ öœy„þ 1 !”öì̃
1

55x
x‚Ÿ „þy‹ „þöìîûÐ

(x + 7) ‹˜ öœy„þ (55 – 11) = 44 !”öì̃ 1 x‚Ÿ „þy‹
„þöìîûÐ

1 ‹˜ öœy„þ 1 !”öì̃
1

44(x 7) x‚Ÿ „þy‹ „þöìîûÐ

1 1

55x 44(x 7)
 



îy– 11x = 44 × 7 îy– x = 28

83. (c) x¢› ­ £z!îû öîûŸ›– ›%†y ­ îÊáþþ™%e vþzþ™“þÄ„þy– þ™yOyî ­
›yœîy!îûÐ

84. (d) ›í%îûy ­ ‹yàþ !îöìoy£– ö„þîûœ ­ ö›yþ™œy !îöìoy£
85. (b) cîûöì’ îlßþîû o&!“þ î,!kþ öþ™öì“þ íyöì„þÐ ~!Ýþîû ~„þ„þ CGS ç

SI þ™kþ!“þöì“þ ëíye«öì› ö¢!›/ö¢2 ~î‚ !›/ö¢2Ð
86. (b) !”!ÍÔ £y£zöì„þyÝÅþ „þ“, Åþ„þ †#“þy !›_œöì„þ öÝþ!îœ öÝþ!˜¢

öšþvþyöìîûŸ˜ xšþ £z!uþëûyîû ²ÌŸy¢!˜„þ „þy‹„þ›Å “þ”yîû!„þîû ‹˜Ä
„þ!›!Ýþ xšþ xÄyvþ!›!˜öìßþTÉÝþöìîûîû ö‰þëûyîûþ™y¢Å̃  !£¢yöìî !˜ë%_«
„þîûy £œÐ

87. (b)

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å
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88. (d) îyÝþy £z!uþëûyîû “þîûšþ öíöì„þ !”Ÿy þ™Ýþy!˜öì„þ îÊÄyuþ xÄyÁºy¢yvþîû

!£¢yöìî !˜ë%_« „þîûy £œÐ
89. (b)

90. (a)

91. (a)

92. (a)

93. (b) 17

17

1515
öŸ¡ì

Öîû&

94. (c)

95. (c) ›£yëy˜îûy ¢‚ßþ,ñ“þ ¦þy¡ìyîû þ™,Ûþöìþ™y¡ì„þ !Šéöìœ˜Ð
96. (b) ~!Ýþ !îöìÙ»îû î,£_› xy£yîû²Ì”y˜ ²Ì„þÒÐ

97. (b)
16.9 1.21 169 121

28.9 2.89 289 289
  

13 11 24 7
1

17 17 17 17
    

 !˜öì’Åëû Ç%þo“þ› ¦þ@Ày‚Ÿ
7 10

1
17 17

    
 

98. (a)

99. (b)

100. (c) ”#!® ²Ìîyöì£îû SI ~„þ„þ £œ œ%öì›˜Ð ~!Ýþîû !‰þ£« 1m/1

1m = 1cd.Sr

101. (c) Ýþy‚öìÞÝþöì̃ îû xþ™îû ˜y› çœöìšÊþ›Ð ~!Ýþîû !‰þ£« – †œ˜yBþ
3695 K (3422°C), ßþ³%þÝþ˜yBþ 6203K (5930°C)

102. (c)

103. (a)

104. (a) !£vþz›y¢ íy„þöìœ ›y!Ýþîû îû‚ •)¢îûéôé„þyöìœy £ëûÐ
105. (d) îûyhßþyîû öÇþešþœ

= (60 + 2 × 4) × (50 + 2 × 4) – 60 × 50
= 68 × 58 – 3000 = 944 þî†Å!›Ýþyîû
 îûyhßþy î¤y•yöì“þ …îû‰þ = 944 × 25 = 23600 Ýþy„þy

106. (c) xy„þîîû 1583 ¢yöìœ ~!Ýþ ‰þyœ% „þöìîû˜Ð œÇþ’ ö¢˜ ­
œÇþ’¢Áº“þ (1120 !…Ê.V– Ÿy£‹y£y˜ ­ ‰þw/!£‹îû ¢Áº“þ
(1628 !…Ê.V

107. (b)

108. (a)

109. (b) ¦þy£z‰þ¨˜ îûO˜ x›œ ŸÁ™yîyîy öîy˜!Gþ

öîy˜
˜y“þ!˜ ö†ïîû#îû&›y

›y›y

110. (b)

111. (a) ˜yëû̃ yîûîûy ÷Ÿî vþzþ™y¢„þ !Šéöìœ˜Ð
112. (c) þ™”yöìíÅîû ÷”‡ÅÄ ²Ì¢yîû’ =’yöìBþîû vþzþ™îû ~!Ýþ !˜¦Åþîû „þöìîûÐ

113. (d) “þîûœ !£!œëûy› MRI ßþñÄy˜ „þîûöì“þ îÄî£yîû „þîûy £ëûÐ
114. (b) ¢%…›ëû ‰þe«î“Åþ# „þ!›!Ýþ ­ !šþ¢„þÄyœ ‡yÝþ!“þ– ~œ !¢ =®y

„þ!›!Ýþ ­ öŸëûyîû îy‹yîû– îœîhsþ îûy£z ö›öì£“þy „þ!›!Ýþ ­
þ™Mþéyöìëû!“þîûy‹

115. (b)

116. (c)

117. (c) 2
10 P 10 2

P 1 1 200
100 100

         
   

îy– 121 20
P 1 200

100 100
     

îy– 1
P 200

100
 

îy– P = 20000

118. (a)

119. (d)

120. (c) 1829 !…ÊÞÝþyöì· ~£z þ™!e„þy!Ýþ ²Ì„þy!Ÿ“þ £ëûÐ
121. (d) ¦þyîûöì“þ !“þ˜!Ýþ îûyöì‹Ä ç ~„þ!Ýþ ö„þwŸy!¢“þ xMþéöìœ ~…öì̃ y

þ™Mþéyöìëû!“þîûy‹ ²Ì!“þ!Ûþ“þ £ëû!˜Ð ö¢=!œ £œ ˜y†yœÄyuþ–
!›öì‹yîûy›– ö›‡yœëû ç œyÇþym#þ™Ð ¦þyîûöì“þ þ™Mþéyöìëû!“þîûy‹
~„þ!Ýþ !ehßþîû îÄîßþiyÐ ö„þîœ›ye ”y”îûy ç ˜†îû £yöì¦þ!œöì“þ
þ™Mþéyöìëû!“þîûy‹ ~„þ!Ýþ !mhßþîû îÄîßþiyÐ

122. (b)

123. (c) Sample space £öìî HH, HT, TH, TT öë…yöì̃ H =

Head, T = Tail, xhsþ“þ 1!Ýþ Head þ™vþüyîû ¢½þyî˜y £œ
3/4

124. (d) î“Åþ›yöì̃  þ™,!íî#îû îëû¢ 4.54 × 109 îŠéîû ²ÌyëûÐ
125. (a)

126. (d)

127. (d)

128. (a) þ™yîû”‡!Ýþ“þ ÷‹î öëï† !›íy£zœ ›y„Åþy!îû !î¡ìy_« þ™”yöìíÅîû
²Ì¦þyöìî !›˜y›yÝþy öîûy†!Ýþ £ëûÐ ~£z öîûy†!Ýþ ²Ìí› xy!îÜñyîû
£ëû 1956 ¢yöìœ ‹yþ™yöì̃ îû !›˜y›yÝþy Ÿ£öìîûÐ

129. (c)

130. (b)

131. (c)

132. (b)

133. (d) ö˜£y  ö˜£yîû „þy„þy  ö˜£yîû „þy„þyîû ö›öìëû  “þyîû öîy˜ S¢#›yV  

…%vþü“%þöì“þy öîy˜

134. (a)

135. (d)

136. (c)

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 9– £z¢%Ä éôé 12  ~!²Ìœ– 20224

137. (a) 1985 ¢yöìœ 52“þ› ¢‚!î•y˜ ¢‚öìŸy•˜#îû ›y•Äöì› þ™yŸ £ëû
ò”œ“þÄy† !îöìîûy•# xy£z̃ óÐ

138. (b)
139. (c)
140. (c)
141. (d) ESPN Cricinfo ~îû “þîûšþ öíöì„þ 2022 ¢yöìœîû ò„þÄyöì²Wz̃

xšþ ”Ä £zëûyîûó þ™%îûßþñyöìîû ¦)þ!¡ì“þ „þîûy £œÐ
142. (d) ~£z x!•öìîŸöì̃ îû ¢¦þyþ™!“þ !Šéöìœ˜ ‹‹Å vþz£zöìœy S²Ìí›

£z‚öìîû‹V
143. (d)
144. (b) 1822 ¢yöìœ ßþiyþ™˜ „þöìîû̃ Ð
145. (c) îûyÜTÉþ™!“þ „þ“,Åþ„þ ²Ìí› ¦þy¡ìy „þ!›Ÿ˜ †!àþ“þ £ëû 1995 ¢yöìœ

!î !‹ ö…îûéôé~îû ö˜“,þöìcÐ
146. (d) !îöìßþ³þyîû’ îyöì” ¢î=!œ£z ²Ìy„,þ!“þ„þ ”%öìëÅy†Ð
147. (b)
148. (a)
149. (a) xy†y›# !”˜ Öe«îyîûÐ Öe«îyîû + 3 = ö¢y›îyîûÐ ç£z

›yöì¢îû ö¢y›îyîû=!œ £öìî 15 ‹%̃ – 22 ‹%̃  ç 29 ‹%̃ Ð
 30 ‹%̃  ›DœîyîûÐ

150. (c) £zÞÝþ öíöì„þ !¦þÝþy!›˜éôéC– !¦þÝþy!›˜ôB „þ›öì²Õ: þ™yçëûy ëyëûÐ
£zÞÝþ ç¡ì%• ²Ìlßþ!“þöì“þ– xÄyœöì„þy£œ– ö„þ„þ– þ™yvþzîû&!Ýþ ²Ìlßþ!“þöì“þ
îÄî£*“þ £ëûÐ

151. (c)
152. (b)
153. (c) þ™Äyœy!vþëûy›– ²ÕÄy!Ýþ˜y›– öœy£y £z“þÄy!” ¢y•yîû’ “þyþ™›yeyëû

H
2
 öŸy¡ì’ „þöìîû– ~öì„þ xhsþ•Å,!“þ îöìœÐ xyîyîû ~öì”îû vþz_®

„þîûöìœ £y£zöìvÈþyöì‹˜ !˜†Å“þ £öìëû ëyëûÐ
154. (d)
155. (d) !îÙ» íÄyœyöì¢!›ëûy !”î¢ ­ 9 ç !îÙ» öîûvþe«¢ !”î¢ ­ 8 ö›

þ™y!œ“þ £ëûÐ
156. (a)
157. (b)
158. (c) ö„þw#ëû !ŸÇþy ›sþföì„þîû “þîûšþ öíöì„þ ¢Á±!“þ ¢)‰þ˜y „þîûy £œ

'Bhasha Certificate Selfie' x!¦þëyöì̃ îû ëyîû ›)œ vþzöìjŸÄ
£œ 'Bhasha Sangam' ö›yîy£zœ xÄyöìþ™îû ²Ì‰þyîûÐ 21
öšþîÊ&ëûy!îû xyhsþ‹Åy!“þ„þ ›y“,þ¦þy¡ìy vþzþ™œöìÇþÄ ~£z x!¦þëyöì̃ îû
¢)‰þ˜y „þîûy £œÐ ö„þw#ëû !ŸÇþy ›sþf„þ ~î‚ MyGov India
~îû “þîûšþ öíöì„þ 'Bhasha Sangam' ö›yîy£zœ xÄyþ™ !˜›Åy’
„þîûy £öìëûöìŠéÐ

159. (d) ¢Á±!“þ ²Ìëûy“þ ö£›y˜¨ !î¢ëûyœ ç!vþŸyîû ²Ìy_«˜ ›%…Ä›sþf#
!Šéöìœ˜Ð !“þ!˜ 1989éôé1990 ~î‚ 1999éôé2000 ”%£zîyîû
›%…Ä›sþf# ”y!ëûc ¢y›öìœöìŠé˜Ð

160. (c) îûy!Ÿëûy ~î‚ £zvþzöìe«öì̃ îû ›öì•Ä ‡öìÝþ ‰þœy ë%öìkþ ¦þyîû“þ#ëûöì”îû
£zvþzöìe«˜ öíöì„þ vþzkþyîû „þîûy !˜öìëû xy¢yîû vþzöìjöìŸÄ ö„þw#ëû
¢îû„þyöìîûîû “þîûšþ öíöì„þ xþ™yöìîûŸ˜ †Dyîû ¢)‰þ˜y „þîûy £œÐ

~£z xþ™yöìîûŸöì̃ îû ›y•Äöì› 15–000 ~îû ›öì“þy ¦þyîû“þ#ëûöì„þ
vþzkþyîû „þîûy ¢½þîþ™îû £öìëûöìŠÐé ~£z xþ™yöìîûŸöì̃ îû ‹˜Ä ö„þw#ëû
¢îû„þyîû ‰þyîû ö„þw#ëû ›sþf#öì„þ öîûy›y!˜ëûy ç öþ™yœÄyöìuþ ö²Ìîû’
„þöìîûöìŠé˜Ð ‰þyîû‹˜ ›sþf# ëíyéôô ö„þw#ëû †,£ ç ˜†öìîûy§¬ëû̃
~î‚ ²Ìy„,þ!“þ„þ †Äy¢ ›sþf# £îûm#þ™ !¢‚ þ™%îû#öì„þ ö²Ìîû’ „þîûy £œ
£yöìD!îûöì“þÐ ö„þw#ëû x¢y›!îû„þ !î›y˜ þ™!îûî£’ ›sþf#
ö‹Äy!“þîûy!”“þÄ !¢!õþëûyöì„þ ö²Ìîû’ „þîûy £œ öîûy›y!˜ëûy ç
›œöìvþyîyëûÐ ö„þw#ëû xy£z̃  ç !î‰þyîû ›sþf# !„þîû’ !îû!‹‹%öì„þ
ö²Ìîû’ „þîûy £œ ößþÔy¦þy!„þëûyëû ~î‚ ö„þw#ëû ¢vþü„þ– £y£zçöìëû
~î‚ x¢y›!îû„þ !î›y˜ ²Ì!“þ›sþf# ö‹˜yöìîûœ !¦þ ö„þ !¢‚ ö„þ
ö²Ìîû’ „þîûy £œ öþ™yœÄyöìuþÐ

161. (b) “¤þyî%öì“þ ¦)þ!›îû öÇþešþœ = r2 = 1.2 × 15

xyëû“þ˜ =
1

3
r2h = 10 × 15


1

3
× 1.2 × 15 × h = 10 × 15

îy–
10 15 3

h 25
1.2 15

 
 


162. (d)
163. (c) ö…¢y!î ûî û vþyö ìœ @Õ %Ý þ !›„þ xÄy!¢vþ– x:y!œ„þ

xÄy!›öì̃ yöì²Ìy!þ™ç!˜„þ xÄy!¢vþ íyöì„þ– ëy œÄyíy!îû‹› ¢,!ÜT
„þöìîû Ÿîû#öìîûîû Çþ!“þ „þöìîûÐ

164. (a) ›!hßþöìÜñîû ö¢öìîûîÊyœ „þöìÝÅþöì:îû ~îû ›%…Ä x‚Ÿ £œ OccipitalÐ
165. (b)
166. (b)
167. (c)
168. (c) 74 ç 34 ~îû ~„þöì„þîû ›y˜ 1

791 – 354 = 788 × 73 – 352 × 32

= (74)22 × 73 – (34)13 × 32

= (...1)22 × 73 – (...1)13 × 9
= (...1)73 – (...9) = (...3) – (...9) = ...4

169. (c) 1905 ˜öì¦þÁºîû éôôô 1910 ˜öì¦þÁºîûé
170. (d) ~£z vþz!_«!Ýþ îûöì›Ÿ‰þw ›‹%›”yîû „þöìî û!Šéöìœ˜Ð !“þ!˜

ö”îþ™yöìœîû Ÿy¢˜„þyœöì„þ îy‚œyîû £z!“þ£yöì¢îû ›£y˜ ë%† îöìœ
x!¦þ!£“þ „þöìîû!Šéöìœ˜Ð

171. (b)
172. (b) öîûy†!Ýþ xy”Ä²Ìy’# öœŸ›!˜ëûy ²Ì‹y!“þîû „þyîûöì’ ‡öìÝþÐ ~!Ýþ

¢ÄyuþšÏþy£z îy£öì„þîû ›y•Äöì› ‡öìÝþÐ ë„,þê– ²Õ#£y– x!ßþi›Iy ~£z
öîûyöì† xye«yhsþ £ëûÐ

173. (a)
174. (a)

175. (c)

–(2×1) –(2×2) –(2×3) –(2×4) –(2×5)

25 23 19 13 5 –5

176. (b) ¢Á±!“þ ¦þyîû“þ ç ‹yþ™yöì̃ îû ›öì•Ä x˜%!Ûþ“þ £çëûy ¢y›!îû„þ
›£vþüy 'EX DHARMA GUARDIAN-2022' ¦þyîûöì“þîû
„þ’ÅyÝþöì„þîû öîœ†y!îöì“þ x˜%!Ûþ“þ £œÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢ÅxÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



5Achievers
177. (a) ¦)þ!› îûy‹ßþº éôôôé …yîûy‹– Ÿöì¢Ä xyöìîûy!þ™“þ x›%¢!œ›öì”îû

vþzþ™îû „þîû éôôôé !‹!‹ëûy ~î‚ ›%¢!œ›öì”îû öÇþöìe ~£z „þîû éôôôé
‹y„þy“þ

178. (c) ›ëÅy”yîû !˜!îûöì… öœy„þ¢¦þyîû !ßþ™„þyîû ¢%!²Ì›öì„þyöìÝÅþîû ²Ì•y˜
!î‰þyîûþ™!“þ ¢›“%þœÄÐ

179. (d)
180. (c)
181. (c)
182. (c) îëû¢– ßþºyßþiÄ– !œD– ç‹öì̃ îû vþzþ™îû !˜¦Åþîû „þöìîû ›y˜îöì”öì£

‹öìœîû þ™!îû›yöì’îû þ™yíÅ„þÄ ö”…y ëyëûÐ ßþf#öì”îû öÇþöìe 48 
6%, þ™%îû&¡ìöì”îû öÇþöìe 58  8%, ¢öì”Äy‹y“þ !ŸÖöì”îû
öÇþöìe 73% ‹œ íyöì„þÐ

183. (c) ‡îû!Ýþîû ö„þy˜y„%þ!˜ „þ’Å £œ ‡îû!Ýþöì“þ îûy…y ¢îÅy!•„þ ÷”öì‡ÅÄîû
î¤yöìŸîû ¢›y˜Ð

 î¤yöìŸîû ÷”‡ÅÄ = 2 2 2 ö”‡ÅÄ þ²Ìßþi vþFz ‰þ“þy

2 2 28 6 5 5 5    !›Ýþyî û
184. (c)
185. (b)
186. (d) xÄyîÊ!œöì̃ îû ¢‚öì„þ“þ C

3
H

4
O

187.(b)
188. (a)
189. (b) 4 × 5x = 500

îy– 5x = 125
îy– 5x = 53

 x = 3
 x3 = 33 = 27

190. (b)
191. (d) 'Bharati AXA Life Insurance' ~îû îÊÄyuþ xÄyÁºy¢yvþîû

!£¢yöìî !î”Äy îyœy˜öì„þ !˜ë%_« „þîûy £œÐ
192. (d)

193. (d)
3

3
3

1 1 1 1
x x 3.x. x

x x x x
          
   

 33 3.1. 3 3 3 3 3 0 ....(i)    

= x30 + x24 + x18 + x12 + x6 + x4

27 3 15 3 9 3
3 3 3

1 1 1
x x x x x x 3

x x x
                
     

= x27 × 0 + x15 × 0 + x9 × 0 + 3 [(i) öíöì„þ þ™y£z]
= 3

194. (a) ¦%þ!Ýþëûy– öœþ™‰þy £z“þÄy!”ç ~£z ‹y!“þîû xhsþ†Å“þÐ
195. (c)

196. (d) îÄëû x Ýþy„þy £öìœ–
17.5x 12.5x

42
100 100

 

 30x = 42 × 100  x = 140

197. (a)
198. (c) !›˜‰þ •y“%þ £œ !¢!îûëûy›– œÄysþiy˜y›– ˜yöìëûy!vþëûy›– xyëûîûöì̃ îû

•y“%þ¢‚„þîû ~î‚ ~!Ýþöì“þ ¢yœšþyîû– „þyîÅ̃ – xÄyœ%!›!˜ëûy› £z“þÄy!”
¢y›y˜Ä þ™!îû›yöì’ íyöì„þÐ

199. (c) ²Ìí› £zDéôé!Ÿ… ë%kþ éôôôé 1845-46 !…Ê.Ð
200. (c) ²Ì!“þ îŠéîû 3 ›y‰Åþ £zvþz̃ y£zöìÝþvþ ö˜Ÿ˜öì¢îû “þîûšþ öíöì„þ î˜Ä²Ìy’#

ç vþz!qöì”îû =îû&c ¢„þöìœîû ¢y›öì̃  “%þöìœ •îûyîû vþzöìjöìŸÄ ~£z
!”î¢ þ™y!œ“þ £öìëû íyöì„þÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

——————


